IB Pre HL chapter 4 Exit Slip #1




Name:  _____________________________
No Calculators!!
1.  Write the expression as a single logarithm.
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2.  Simplify.
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3.  Solve for 
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4.  If 
[image: image11.wmf]log

xa

=

 and
[image: image12.wmf]log

yb

=

, rewrite 
[image: image13.wmf]5

3

2

log

y

x

æö

ç÷

èø

 in terms of 
[image: image14.wmf]a

 and  
[image: image15.wmf]b

.














_1507032402.unknown

_1507032933.unknown

_1507093635.unknown

_1507098950.unknown

_1507033132.unknown

_1507032811.unknown

_1507032850.unknown

_1507032867.unknown

_1507032830.unknown

_1507032775.unknown

_1507032296.unknown

_1507032368.unknown

_1475318199.unknown

_1507032223.unknown

_1412421394.unknown

